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1. Asstudent has studied the decomposition of a gas AB, at 25°C. He obtained the following data.
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The order of the reaction is
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relative t1/2(s) 4 2 1 0.5
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Question ID: 7155051563
Ans.  Official Answer NTA (1)
Sol. Tie (Co)™
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2. Which will undergo deprotonation most readily in basic medium ?
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R Hegd § B Faifdes Jlen & are fSuemes e ?

a MeO b OMe P OMe

(1) a3iR ¢ SFI (2) Hadta (3) Fad ¢ (4)Fad b
Question ID: 7155051576
Ans.  Official Answer NTA (2)
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Sol.  Most easily deprotonation

O 0O 0 O

H
(More resonance stabilibsed)
3. Given below are two statements :
Statement I : Pure aniline and other arylamines are usually colourless.
Statement II : Arylamines get coloured on storage due to atmospheric reduction
In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement [ and Statement II are correct
(2) Statement I is incorrect but Statement II is correct
(3) Statement I is correct but Statement Il is incorrect

(4) Both Statement [ and Statement Il are incorrect

3. ey Ry
B 1 : g VelYd 3 YR UT: eI 81 € |
B 11 : TR VHIRT FIERN B UR IIAVS AT AR & BRI I 8 I & |
SYYad BT B TR H, 1 QY 1Y Repedi #§ 3 T8 SR I+ |
(1) B2 I d i 11 <1 81§ |
(2) B I TeAd B U B 11 981 € |
(3) B L & IR B 11 e & |
(4) S B 1 T2 HUF 11 Terd § |
Question ID: 7155051579
Ans.  Official Answer NTA (3)

Sol.  Pureaniline is colourless liquid. Aniline becomes dark brown due to oxidation.

4. Choose the correct representation of conductometric titration of benzoic acid vs sodium hydroxide.
A

2

ORs
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Question ID: 7155051562
Ans.  Official Answer NTA (1)
Sol.  CeHs;COOH+NaQH——C,H,COONa+ H,0

(wa) (Salt)

4 )
g
HS ©
S
>
VNaOH

(A) > (B) Free H" ions are replaced by Na® which decreases conductance.
(B) — (C) Un-dissociated benzoic acid reacts with NaOH and forms salt which increases ions & conductance
increases.
C) — (D) After equivalence point at (3). NaOH added further increases Na® & OH ~_ions which further
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increases the conductance.

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Benzene is more stable than hypothetical cyclohexatriene

Reason R : The delocalized w electron cloud is attracted more strongly by nuclei of carbon atoms.

In the light of the above statements, choose the correct answer from the options given below:

(1)Ais false but R is true

(2) Both A and R are correct but R is NOT the correct explanation of A

(3)Aistrue but R is false

(4) Both A and R are correct and R is the correct explanation of A

1 <1 P Y Y 2 | g Pl b A Ud TR &1 BIRVT R F81 T8 -

JAFHAT A : PTUMS ATSTAZTATZISST DI Gl H Tl AP R 2 |

BRI R : fORenfd n-saagt= s (cloud) BTE IRATIRT & 1A GIRT TeId YTl H ATHN [y S & |
SUIeRT Bl & YTl |, - QY Y fdeheui H 8l IR 7+ |

(HATIAZRGR FE &

(2) A Td R <1 9ET E A1 A &) 98 IR R T8I ©

(3) A\EI 2 Y=g R 7ot B

(4) A Td R SIF1 W&l € AT A &) 98 IRATR &

Question ID: 7155051577

Ans.

Sol.

Official Answer NTA (4)

Benzene is more stable than hypothetical cyclohexatriene due to resonance.

So, 1% statement is correct.

As the delocalised mt-electron cloud is attracted more strongly by the nuclei of carbon atoms, therefore benzene
is resonance stabilized. It is also aromatic in character.

Hence, the correct answer is (2)

In which of the following reactions the hydrogen peroxide acts as a reducing agent ?
(1) HOC1+ H,0, > H,0" +Cl + O,

(2) Mn* + H,0, - Mn*" + 20H"

(3) 2Fe’** + H,0, — 2Fe™ + 20H"

(4) PbS+4H,0, - PbSO, + 4H,0

o1 1 1 rfafhar # BraeIo WRiITSS TU=id & WU H B Bl & 2
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(1) HOC1+ H,0, > H,0" +Cl + O,

(2) Mn* + H,0, - Mn*" + 20H"

(3) 2Fe** + H,0, — 2Fe™ + 20H"
(4) PbS+4H,0, -» PbSO, +4H,0
Question ID: 7155051566
Ans.  Official Answer NTA (1)
Sol.  HOCl+H,0, - H,0"+CI' + O,
In this reaction H,0, reduce HOCl to Cl~ and it self get oxidised to O,.
7. The metal which is extracted by oxidation and subsequent reduction from its ore is:
(D) Cu A (3) Fe (4)Ag
&1, T FIshyvl SHS 3R & SATRITHRUN TRTURT AU & §RI {5 Sl 2, TE B -
(1)Cu 2)A ¢ (3) Fe (4)Ag
Question ID: 7155051565
Ans.  Official Answer NTA (4)
Sol. Ag.
4Ag +8CN + O, + 2H,0 — 4[Ag(CN),] + 40H"
2[Ag(CN),]"' +Zn — 2Ag ¥ +[Zn(CN),] 2
8. The hybridization and magnetic behaviour of cobaltion in [Co(NH,) [** complex, respectively is
(1) d’sp*and diamagnetic
(2) sp*d? and diamagnetic
(3) d’sp® and paramagnetic
(4) sp® d> and paramagnetic
[Co(NH,),|** Hgel # PIaTee I H1 G0 Vd FaaId FIER Hl: & —
(1) d’sp’ iR Ul
(2) spd? 3R SrggATHIA
(3) d’sp’® 3R ITIF=®H
(4) sp® d? 3R Ui
Question ID: 7155051572
Ans.  Official Answer NTA (1)
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Sol.

[Co(NH,),J*" is diamagnetic with d’sp® hybridisation of Co™.

This is because NH, is a strong field ligand and forces electrons to pair up in a d° configuration.

Find out the major products from the following reactions.

Hg(OAc),, H,0
NaBH,

R
D<€

BH, THF
D T ——_—
H,0,/ OH

(1) A - é{m o §<OH

2) A - §<)H s g/\m
(3)a - §/\OH B - §<OH

(4) A= g/\OH . B- §/\OH

=1 arfefshanai & J&a ITE &1 yar Ay

Hg(OAc),, H,O
NaBH,

R«
D%

(1) a-

%

BH, THF
—_—
H,0,/ OH"
OH
. B=
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OH
2)a-= B - é/\oH
(3) A= OH . §<OH
(4) A= OH ., B= §/\OH
Question ID: 7155051574
Ans.  Official Answer NTA (3)
1. Hg(OAc),
2.H,0
_ 3.NaBH, BH,/THF
Sol. < —_—
H,0,/OH Ol
OH
10. Which of the following cannot be expained by crystal field theory ?

(1) Magnetic properties of transition metal complexes

(2) The order of spectrochemical series

(3) Colour of metal complexes

(4) Stability of metal compexes

1 9 9 fordes e fihved e Rigid g1 181 81 | ?
(1) &7 Segett &7 T

(2) WhgH RIS Aol &1 A

(3) g el Bl Wi

(4) AspHT T AIRTDT BT FrIH g o1

Question ID: 7155051570

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 9




=== M ATRIX Question Paper With Text Solution (Chemistry)
‘} JEE Main January 2023 | 24 January Shift-2

Ans.  Official Answer NTA (2)

Sol.  Crystal field theory introduce spectrochemical series based upon the experimental values of A but can't explain
it's order. While other three points are explained by CFT. Specially when the CFSE increases thermodynamic
stability of the complex increases.

11. The number of s-electrons present in an ion with 55 protons in its unipositive state is
()12 (2) 10 3)8 49
55 UIeHI aTel TR & e BTd Tl § YR s-Seldg [+ &) AT 8 -

()12 (2)10 3)8 49

Question ID: 7155051564

Ans.  Official Answer NTA (2)

Sol. 55 protons are present in Cs®
.. Number of s-electrons = 10

12. K Cr,0, paper acidified with dilute H SO, turns green when exposed to
(1) Carbondioxide  (2) Sulphur dioxide (3) Sulphur trioxide ~ (4) Hydrogen sulphide
& K,Cr,0, Uik Sit @9 H,SO, &1 3Fellgrd {1 721 &, 81 81 Sl & 1771 & w1ef wues H fr o) —

(1) EOSIOH WHIEE  (2) Ao SIRifRIES  (3) IR SRITFITSS (4) FHe- SISIifrgs

Question ID: 7155051578

Ans.  Official Answer NTA (2)

Sol.  Cr,O7 +2H"+3S0,——2Cr™" (green)+3SO; +H,0.

13.  Correct statement is :
(1) An average human being consumes nearly 15 times more air than food
(2) An average human being consumes more food than air
(3) An average human being consumes equal amount of food and air
(4) An average human being consumes 100 times more air than food
TE P & —
(1) U 3id ST 419 | 1T 15 T[T 31fdies a1 &1 Wud vl 8 |
(2) U SRId SAH &1 DI a1 | 31 HIo &) @ud FRl B |
(3) Ua 3N SA | Ud 8al &1 AHM A3 HI WU BT 6 |
(4) T 3 SAH I 100 T[T 31 84T @l Wod vl § |
Question ID: 7155051571
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Ans.  Official Answer NTA (1)

Sol.  Anaverage human being consumes 15 times more air than food.
The correct answer is (1).
14.  Identify the correct statements about alkali metals.
(A) The order of standard reduction potential (M* | M) for alkali metal ions is Na>Rb> Li.
(B) Csl is highly soluble in water.
(C) Lithium carbonate is highly stable to heat.
(D) Potassium dissolved in concentrated liquid ammonia is blue in colour and paramagnetic.
(E) All the alkali metal hydrides are ionic solids.
(1)A,Band E only
(2)Aand E only
(3) Cand E only
(4)A,B, D only
&R T3l A AT FE! HA DI Ugdl
(A) &R TRl & M1 & A g+ fa9a (M | M) &1 % 2 : Na > Rb> Li
(B) Csl 5Ta1 # arcufde ey 2 |
(C) NfeRMm HrEi=e 1 & Ufd Ifdies R B |
(D) A= <a M 3 gferd ure R el 1 31 1R g gl 2
(E) 91 eTR &1 BIS SIS Saf+d o1 &Il & |
(1)>aa A, BUaE
Q) FIAATE
(3)FHIACTIE
(4)FHIdA,B, D
Question ID: 7155051568
Ans.  Official Answer NTA (2)
Sol.  (A) E,.,, orderof alkali metal ionis Na>Rb>Li
(B) Cslis not highly soluble in water
(C) Lithium carbonate decomposes on heating

Li,CO, ——Li,0+CO,(g)
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15.

Ans.

Sol.

(D) K+ (x + y)NH3 —)[M(NH3 )x T * [e_ (NH3 )y }_

In dilute ammonia solution it gives blue colour and paramagnetic in nature but in concentrated ammonia solution
it gives copper bronze colour and diamagnetic in nature.

(E) All alkali metal hydrides are ionic in nature.

What is the number of unpaired electron (s) in the highest occupied molecular orbital of the fullowing species

N,oN,:0,:0,7?

(H2,1,2,1 2)2,1,0,1 (3)0,1,0,1 40,1,2,1
N,: N, ;0,; 0, # = R gy AT Bfch H Y Feld 1 B WA &, A
(H2,1,2,1 2)2,1,0,1 (3)0,1,0,1 4)0,1,2,1
Question ID: 7155051561

Official Answer NTA (4)
N2

. . o2p’
ols’c'ls* 625 6" 25” n2p; =n2p; z

HOMO
o2p,

16.

N} —ocls’c'ls’ 6" 2s” 6" 2s* n2p; = n2p;

HOMO
0, -ols’6'ls’ 625> 6" 25” 62p.

n2p; = n2p;

n 2p, == 2p, (HOMO)

0, —ols’ 0 *Is* 625 6 *2s° 62p; n2p. = n2p;
n 2p, == 2p, (HOMO)

N, = Ounpaired e in HOMO

N} = 1 unpaired e in HOMO

0, = 2 unpaired ¢ in HOMO

0} = 1 unpaired e in HOMO

Choose the correct colour of the product for the following reaction.

N = N - OOCCH,

+ 1 —Naphthyl amine ——

SOH
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(1) Yellow (2)Blue (3)Red (4) White
1 arfifehan # ¥ IR &1 A [ G -

N = N - OOCCH,

+ 1 —Naphthyl amine ——

SOH
(1) gt (2) frem (3) ottt (4) Iog
Question ID: 7155051580
Ans.  Official Answer NTA (3)

I
N=N-0-C-CH,

Sol. + 1- Naphthyl amine —

SO.H

SO.H @N =N @ NH, + CH,COOH

(Red coloured dye)

17. Match List I with List IT

LISTI Type LIST II Name
A. | Antifertility drug l. Norethindrone
B. Tranqulizer Il Merprobomate
C. Antihistamine M. Seldane
D. Antibiotic V. Ampicillin
MATRIX JEE ACADEMY
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Choose the correct answer from the options given below :
(1) A- 1, B-II, C-III, D-IV
(2) A- 1V, B-III, C-II, D-I
(3) A-11, B-I, C-III, D-IV
(4) A- 1, B-1IT, C-II, D-IV

Bl EIRCIBISIEEIN KR
A [9dR SR EIN
A | QT s L RS
B. PNIRE . AYIgHT
C. gfafee A Il KGR
D. FIRNIEED V. Qﬁqﬁ'ﬁ%’ﬁ
A= Qg Y fasped § 9 Wl SR g -

(1) A- 1, B-I, C-III, D-IV
(2) A- 1V, B-III, C-1II, D-1
(3) A-11, B-I, C-III, D-IV
(4) A- 1, B-IIT, C-II, D-IV

Question ID: 7155051573

Ans.  Official Answer NTA (1)

Sol.  NCERT, Chemistry in everyday life

18. Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Beryllium has less negative value of reduction potential compared to the other alkaline earth
metals.
Reason R : Beryllium has large hydration energy due to small of Be** but relatively large value of atomization
enthalpy

In the light of the above statements, choose the most appropriate answer from the options given below
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(4) ATE B UG R Toa B
Question ID:7155051567
Ans.  Official Answer NTA (2)
Sol.  Be has less negative value compared to other AEM. However it's reducing nature is due to large hydration
energy associated with the small size of Be?" ion and relatively large value of the atomization enthalpy of metal.
19.  which one amongst the following are good oxidizing agents ?
(A) Sm** (B) Ce* (C) Ce* (D) Tb*
Choose the most appropriate answer from the options given below :
(1)Aand B only (2) Cand D only (3) Donly (4) Conly
o1 9 O I yedt sifRiTep RS 8 /8 ?
(A) Sm* (B) Ce* (C) Ce** (D) Tb*
A1 forg 7 Rt 3 < TR ST SR T -
(1) Haa1 Aga B Q)@aaCwa D (3)&aa D 4) daa C
Question ID:7155051569
Ans.  Official Answer NTA (2)
Sol.  Ce™and Tb*™ are strong oxidising agents as the common oxidation state of Lanthanides is (+3).

(1) Ais not correct but R is correct

(2) Both Aand R are correct and R is the correct explanation of A

(3) Both A and R are correct but R is NOT the correct explanation of A

(4) Ais correct but R is not correct

A 1 HUA Y Y & | TP DI IIMAHAT A T TR &1 HROT R &8 T 7 |

JAFHA A : 3T &I T 813l a1 T H SRferad & o= fava &1 A9 HF Foes 2 |

PRI R : Be*' & BIC MHR & HROT SR eTTH &1 BT SIoT Syl & 714 3718 B IRy HUTH (atomisation) Grrredl

BT AT BIB] 31D B |

STYa Bl & FHR H, A QY 1Y faved 7 9 A8 SR g -
(1) A7Ted 8 R R |81 8

(2)ATd R gl A& B q1 R, A 31 GE) et B

(3) ATdR SFI A& 8, A1 R, A &1 A& IR T8 8
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20. Given below are two statements :

O
HN . .. oy
Statement I: > \ /\/'\ under Clemmensen reduction condition will gweHOOC /\/\
O

O
Statement 11 : 7/\/ I\ under Wolff-Kishner reduction condition will give 7/\Cl/\
Cl

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Statement I is false but Statement Il is true

(3) Both Statement I and Statement II are false

(4) Statement I is true but Statement II is false

TR s RV g :
O
e HZN\‘ON\ FORTE STEIT YR S Hooc” >

(0]
S— 7/\/\ deh—fp R JUIH TR 7/\(31/\

cl
S Bl B Gebrel H, < faq 1Y fdepedi # 3 el SR g -
(1) Por I gd ser 11 < I 8 |

(2) B TTeTd B U+ B 11 9L § |
(3) B 1 vd HF 11 Q1 Terd € |
(4) B [ FE1 & TR HU 1 Tera © |
Question ID: 7155051575
Ans.  Official Answer NTA (4)

O
NH, Zn-Hg/Conc.HCl _ NN\
Sol. - HOOC
O
O
N,H,/OH >/\/\
A
Cl
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21. One mole of an ideal monoatomic gas is subjected to changes as shown in the graph. The magnitude of the

work done ( by the system or on the system) is J (nearest integer)

1.0

Pressure (bar)
j=]
wn
v S g

S

20

Volume (L)
Given:log2=0.3
In10=2.3
foreft arreel va g T @ e Ardt AR aRads fey e | {6y 1 et (Rer gR1 an e W) @
af#ToT B J (Freda qurie)
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—_
(=3

Pressure (bar) ——
o

S g

N R EEEE

20
Volume (L)
fem g 1 log2=0.3
In10=2.3
Question ID: 7155051584
Ans.  Official Answer NTA (620)
Sol. 1 —> 2 = Isobaric process
2 — 3 = Isochoric process
3 — 1 = Isothermal process

W = W1—>2 + W2—>3 \ W3—>1

=—20+201In2
=-20+20%x23x03
=_-6.2barL

IW|=6.2 bar 1 =620]

[ p(v, —v1)+0{‘1’lvl n [X_JD

_ _1x(40—20)+0*[‘“201“(%m

22.  Following figure shows spectrum of an ideal balck body at four different temperatures. The number of correct

statement/ s from the following is
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Energy distribution —»

Wavelength ——>

A)T,>T,>T,>T,
(B) The black body consists of particles performing simple harmonic motion.

(C) The peak of the spectrum shifts to shorter wavelength as temperature increases.

T
(D) 1.5 %L # constant
Vi Vo Vg

(E) The given spectrum could be explained using quantisation of energy.

1 o o AR fafie=T Aol WR e et Hftorent (seies §1<) o1 WaH Ui & | 771 3 & A8 Sl @l aea

Energy distribution —»

Wavelength ——>

(A)T,>T,>T,>T,
(B) T wva armad 71t (Rreael sRAMS A19H) S aTet S0 | AT 2 |
(C) A ¥ gfg & A1 WagH &1 Ifeas (peak) g aRIaed Bl R RAFFIRT BT Sl 2 |
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T T, T
(D) L =—2= % constant
Vi Vo V5

(E) ¢ 7y Wered &) R Soll & ddicIehRol T B Sl qebel) & |

Question ID: 7155051582

Ans.

Sol.

23.

Official Answer NTA (2)

AT >T,>T,>T,

B. Itis incorrect as particles do not undergo simple harmonic motion.

C. Itis correct

D. Itis incorrect

E.Itis correct

The total pressure observed by mixing two liquids A and B is 350 mm Hg when their mole fractions are 0.7 and
0.3 respectively.

The total pressure becomes 410 mm Hg if the mole fractions are changed to 0.2 and 0.8 respectively for A and
B. The vapour pressure of pure Ais_ mm Hg. (Nearest integer) Consider the liquids and solutions
behave ideally.

argal A vd B &1 et W gt &1@ 350 mm Hg 9rn R Siafes SeeT /el geret swer 0.7 a0 0.3 8 |59 A 7d
B &1 At yiret %99 0.2 79 0.8 s fRar a2 A1 g @ 410 mm Hg @ T 2 | Y6 A ST AW R ...
............................. mm Hg, 5ai va fdera=i &1 fesl 28R $<d g¢ 9 |

Question ID: 7155051585

Ans.

Sol.

24.

Official Answer NTA (314)

X, P+X,PO=P

0.7P°+0.3P.=350

&02P°+08P. =410

- P,"=314 torr.

If the pKa of lactic acid is 5, then the pH of 0.005 M calcium lactate solution at 25° C is x107!

(Nearest integer)
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H
Lactic acid CH, — ¢ —COOH
b
Ifg wifaes ot @1 pKa 5 8 @9 25° C R 0.005 M dfoeres dace fdeaa &1 pH 2 . x 107!
(Frepe gorfe)
H
Lactic acid CH, — ¢ —COOH
OH

Question ID: 7155051586

Ans.  Official Answer NTA (85)

Sol.  Concentration of calcium lactate = 0.005 M,

concentration of lactate ion = (2 x 0.005) M.

Calcium lactate is a salt of weak acid + strong base

.. Salthydrolysis will take place.

pH=7+ %(pKa + logC)

1
=7 +5(5 +log(2x 0.005))

:7+%[5—210g10]:7+%><3=8.5=85><10‘1

25.  Thenumber of statement/s, which are correct with respect to the compression of carbon dioxide from point (a)

in the andrews isotherm from the following is

Pressure —»

C b

Volume —

(1) Carbon dioxide remains as a gas upto point (b)

(2) Liquid carbon dioxide appears at point (c)
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(3) Liquid and gaseous carbon dioxide coexist between point (b) and (c)

(4) As the volume decreases from (b) to (c), the amount of liquid decreases

gl AT H 35 (@) & H1e STEifauTss o) Aulsadl § TFaid A8l BT &1 A& 8

Pressure —»

C b

Volume —

(1) fa=g (b) T& B+ STRRITHRIES U@ 19 & ®U H I&T & |
(2) g (¢) R 59 B+ Srssifaarss uRARTd Brar 2 |
(3) fag (b) T (¢) & W& HT SIERITHATSS & d A1 sravenaii # e 31Racd # Y&l ¥ |
(4) S & e (b) A (¢) T TedT &, O 9 & A "l B |
Question ID: 7155051583
Ans.  Official Answer NTA (2)
Sol.  A.ltis correct
B. Itisincorrect as it appears at point (b)
C.Itis also correct
D. Itis incorrect.
Number of correct statements = 2
26.  Thenumber of statement / s which are the characteristics of physisorptionis
(A) Itis highly specific in nature
(B) Enthalpy of adsorption is high
(C) It decreases with increase in temperature
(D) It results into unimolecular layer

(E) No activation energy is needed

AP AT B FAeTol T TId BT B &A1 8
(A) T8 e fafdre umfa & B 2 |
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(B) arfaremyor &) gl St Bl B |
(C) T a9 H gfg & A1 gl B |
(D) I8 Ul 3TV U Sl & |
(E) |fshaor Sroif &Y Sraaerdr 8 Tedl B |
Question ID: 7155051587
Ans.  Official Answer NTA (2)
Sol.  (A)Physisorption is not depend on nature of Adsorbate. So it is not specific in nature.
(B) In physisorption enthalpy of adsorption is low (20-40 KJ/mol).
(C) Physisorption are decrease with increase in temperature.
(D) Physisorption is multimolecular layered.
(E) In Physisorption activation energy is not required.
217. Sum of © —bonds present in peroxodisulphuric acid and pyrosulphuric acid is
RIFASISITRIRG 3T 3R URRIAHIRE el § 1981 DI dol AT 2
Question ID: 7155051588
Ans.  Official Answer NTA (8)

Sol.  Peroxodisulphuric acid -

o) O
I I
H-0-S-0-0-S-0H
I I
o) o)

No. of 1 —bonds =4

O o)
| |
Pyro sulphuric acid — H-0- ﬁ_o - ﬁ—OH
o 0)
No. of t—bonds =4
Total n— bonds = 8
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28.  Thenumber of units, which are used to express concentration of solutions from the following is

Mass percent, Mole, Mole fraction, Molarity, ppm, Molality
=1 % & 31 garsal @) A R faeras @) sl @ad o SRl 2
S YRR, AT, Hel YHTST, HIeRdl, ppm, Areterdl

Question ID: 7155051581

Ans.  Official Answer NTA (5)

Sol.  Mass percent, mole fraction, molarity, ppm & molality are used to express concentration. So, number of units
=5

29. Maximum number of isomeric monochloro derivatives which can be obtained from 2,2, 5.5 - tetramethylhexane
by chlorination is
2.2,5,5-<gHiRcTsa @ FARMIGIO H YT TG AFaaR] a1 @l ffAdhdd Al ©

Question ID: 7155051590

Ans.  Official Answer NTA (3)

Sol. M M
o < (R+S)

Total =3
30.  Total number of tripeptides possible by mixing of valine and prolineis
I 3R Urefi™ &I fe™ W 99Ifad SsUeRs! @l Gol I &
Question ID: 7155051589
Ans.  Official Answer NTA (8)
Sol.  No. of possible tripeptide :
Val & Prois 2*
(1) val —val —val (2) pro — pro — pro
(3) val — pro — pro (4) pro —val — pro
(5) val —val —pro (6) val —pro—val
(7) pro —pro — val (8) pro—val—val
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